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All questions carry equal marks,
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Roll No.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any guestion.

8. Each question has four alternative responses marked serially

as 1, 2, 3, 4. You have to darken only one circle or bubble

indicating the correct answer on the Answer Sheet using Blue

Ball Point Pen.

9. 1If there is any sort of ambiguity/ mistake either of printing
or factual nature then out of Hindi and English Version of the
question, the English Version will be treated as standard.

10. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will be
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According to Freud the part of the
mind that governed by the pleasure
principle is —

(1) Id (2) Ego
(3) Super Ego (4) Conscious
According to Freud’s theory of

Psychosexual development, the five
stages of development are

(1) Oral, Anal, Phallic, Latent, General
(2) Oral, Anal, Palsy, Latency, Genital
(3) Oral, Anal Latency, Phallic, Gender
(4) Oral, Anagl, Phallic, Latency, Genital
A major field of Psychology that study
mental disorder is known as

(1) Clinical Psychology

(2) Cognitive Psychology

(3) Social Psychology

(4) Positive Psychology

Jean Piaget’s theory is known as
(1) Theory of cognitive development,
where new information axe
handled by two processes
assimilation and accommodation.
Theory of competence development,
where new information are
handled by two processes
assimilation and accommodation.
Theory of cognitive development,
where new information are
handled by two processes :
affirmation and accommodation.
(4} Theory of psychomotor
development, where new
information are handled by two
processes : assimilation and
accommodation.

Any relatively permanent change in
‘behaviour through experience or
practice is known as

@)

3)

(1) Intelligence (2) Learmng

(3) Motivation (4) Insight
Binet’s mental ability test is
associated with which field of
Psychology ?

(1) Memory (2) Intelligence
(3) Learning (4) Motivation

Cultural beliefs about differences
between women and men are termed as :
(1) Gender roles

(2) Gender beliefs

(3) Gender stereotypes

(4) Gender cultural consistency
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11.

Durkheim has explained three types of
suicide. Which of the following are the
three types of Suicide ?

(1) Egoist, Altruistic, Anomie

(2) Self poisoning, self-hurting, high-
rigk taking

(3) Depression induced,
induced, Injury induced

(4) Egoistic, Emotional overloading,
Entrusting

propounds that early life

experiences have an effect on the

grownup behaviour.

(1) Person centred theory

(2) Psycho analytical theory

(3) Behaviour modification theory

(4) Existential theory

Broadly emotion is described as two

main types : Affect and Mood.

(1) Affect is immediate emotional
response and Mood is latent
emotional response.

(2) Affect is short-lived
response and Mood is
emotional response.

(3) Affected is visible emotional
response and Mood is invisible
emotional response.

{4) Affect is expressed emotional
response and Mood is etiological
emotional response.

Based on the level of IQ the different
level of mental retardation is
determined. Each of the group is

Accident,

emotional
sustained

termed as per their level of
performance. Match the Ilevel of
retardation with the performance.
Column-I Column-II
(Level of (Performance)
retardation)
A, Miid 1.  Educable
B. Moderate 1. Dependent
C. Severe i1i. Life support
D. Profound iv. Trainable
Codes:
A B C D
1) iv 1 1 I
2 1 i iv il
® i it v #
@@ 1 w 1 im
12




12. iaH-1 & agqd Feiaiga AfRfeEt =
Fiem-11 = d8d AUHIH & T 99 &
i e =t |

12. Match the
Column-I with the correct years of
enactment under Column-II.
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' i . .. y
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intellipenice 18 an important factor.

Recently the meaning of intelligence

has been expanding. Which of the

following expansion of ‘intelligence’ is

‘wrong ?

(1) Spiritual intelligence is about
absolute faith on God, staunch
believer and denying any other
reality.

(2) Intellectual intelligence measured
through 1Q.

{3) Social intelligence includes an
awareness of situation and social
dynamics that govern them.

(4) Emotional intelligence has
implication for the ways in which
individual tackles daily problems.

14. When was the UDHR adopted by the

TN General Assembly ?

(1) 9t November, 1946

(2) 8th March, 1956

(8) 10% December, 1948

{4) 26% January, 1947

15. Right to information campaign was led by

(1) C.K.Janu

(2) Aruna Roy

(3) Mahasweta Devi

(4) Rajendra Yaday
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According to the Directive Principles of

State Policy, the directives are

in the court and in favour of

individuals.

(1) enforceable / create any justiciable
rights

(2) Semi-enforceable / do not create
any jusiiciable rights at times

(8) Not amenable / do not create any
human rights

(4) Not enforceable / do not create any
justiciable rights

The objective of Social Legislation is.

(1) To solve social problems.

(2) To bridge the gap between current
needs and existing laws.

(3) To make new laws.

(4) To review the laws and problems.

Which of the following sentence is not
correct about social legislation need ?
(1) To ensure social justice.

(2) To promote social welfare.

(8) To bring about desired social
change.

(4) To protect and promote the rights
of socioeconomically advantaged
groups of the society.

Human Rights Watch is a which type

of organization ?

(1) Governmental Organization

(2) Non-Governmental Organization

(3) United Nations Organization

(4) Private Organizaiion

The Directive Principle of State Policy

ig given under which part of Indian

Constitution 7

(1) Part-I (2) Part-II

(3) Part-I1 4) Part-IV

— . are the fundamental rights as

per the Constitution of India.

A. Right to Equality

B. Right to Freedom

C. Cultural and Educational Rights

D. Right to Development

Choose the correct answer from the

following :

Codes :

(1) ABandGC (2) A,CandD
3 B,CandD (4) CandD

12
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in his book,

“Equality” has conceptualised modern

citizenship in terms of three major

dimensions. Which of the following are

correct dimensions ?

Citizenship, Political
Citizenship, Social Citizenship

(2) Voting rights, religious rights,
social rights

(3) Authentic Citizenship,
Constitutional Citizenship,
Conditional Citizenship

(4) National Citizenship, State
Citizenship, Dual Citizenship

Maich lList-I with List-II and choose

the correct answer from the codes given :

List-1 List-1I
{Legislation) (Year of
enactment)
dJuvenile dustice Act i 1956
Prevention of i, 1929
Immoral Traffic Act
Dowry Prohibition Act iii. 1961
Child Marriage iv. 1986
Restraints Act
Codes:
A B C D
(L v i i di
2 v 1 m 1
@ 1 v i i
@ v Hm un i
‘Which one of the following is nof a
method of social work ?

(1) Sccial Case Work

{2) Community Organization

(3) Community Development

(4) Social Action

Which of the following is not the
principle of Community Organisation ?
(1) Specific objective

(2) Rigid organization

(8) Democratic functioning

{(4) People’s participation

‘Which one of the following is related to
Community Organization ?

Choose the answer by selecting the
correct code. .

A. Locality development model

B. Sccial planning model

C. Soctal action model

Codes :
1) A&B (2) Aonly
(8) Band C 4 Al

T S
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Steps of community organization in
sequence :

(1) Functional Analysis, Identifying
the problem, Action Plan,
Implementation & Kvaluation
Tdentifying the problem,
Functional Analysis, Action Plan,
Implementation & Evaluation
Identifying the problem, Action
Plan, Functional Analysis,
Implementation & KEvaluation
Functional Analysis, Identifying
the problem, Implementation &
Fvaluation, Action Plan

Connection among individuals that
reciprocate {rust, civic engagement
and social solidarity is known as —

(1) Community Practice

(2) Community Organization

{3) Social Capifal

{4) Social Development

When was the First five year plan
introduced by the government of India ?
(1) 1950-55 (2) 1951-56

(3) 1948-53 {4) 1949-54

Which of the following statement

about community is false ?

(1) Community is not permanent.

(2) Community sentiments hold the

people of a community together

and community has a wider end.

Usually in village community

there is likeness in language,

customs, traditions etc.

(4) Community not having any legal
status.

Which of the following authors said

(1) “Society is a web of social
relationship.” and defined

(il) “Community is a social group with

some degree of ‘we-feeling’ and

“living in a given area” ?

(1) Murray G. Ross / (ii)) Ogburn

and Nimcoff

(i) Bogardus / (ii) Kingslay Davis

(1) Kingslay Davis / (ii) Murray G.

Ross

(@) Maclver / (ii) Bogardus

2

@)

4

3)

@

@
3

@
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Match List-]I with Tist-II and choose

the correct answer from the codes given :

List-1

A. Social justice 1i.

o
sk

B. Participation ii.

C. Equality 1.

D. Learning iv.
Codes:
A B
(1) iv i
(2) i1 v
(3 1 in
(4 11 1

CHCHEE !

List-1I
Recognizing the
skills, knowledge
and expertise that
people contribute
and develop by
taking action to
tackle social,
economic, political
and environmental
problems.
Challenging the
attitudes of
individuals, and
the practices of
institutions and
society, which
discriminate
against and
marginalize people.
Facilitating
democratic
mvolvement by
people in the
issues, which affect
their lives, based

on full citizenship,

autonomy and
shared power,
skills, knowledge
and experience.
Enabling people to
claim their human
rights, meet their
needs and have
greater control over
the decision
making processes,
which affect their
Bves.

D
i
i
v
1v




N T

~—

33.

34.

35.

36.

Triafiaa -1 ! gEfi-11 9 gafed =
-1 gE-1I
A GmFg i Gdel % fafw R
wmft IHE  GieT
HECT S T8 |
B. It i w ‘sbmArT  #
arght e 3R TEEE
gfeesnier W AWM Higd W=
oo wgee < adft
S TR E |
C. uipnm . woEE O Yl %
g waf iR =afen
TP R &I whigd
HET |
e
A B C ‘@ﬁ?m
O #o# i R
@ # i i
38 m i i
@ i i #
Frafafas 4 @ S @1 Ter amifis
Sferes S THE % IR 5 W@ v
27

(1) 3T, ITAR, Tearhd
(2) ITETT, TEdER, STER
(8) WTHIFA, IEFT , ITEAN
(4) TouiEs, STAR, IERH

Trafefea 3 @ s wee % e wmiies
gﬂgg w/ A T i - S
7
(1) =l 3R G @ B g
S |
(2) G ifesa IZETAT =l NI T |
(3) TS FRiHdl & Tl I AT BT |
(4) i I WEd) <! ST T |

AT s FE W IYY S hash
S TaEl 7

(1) k. Eield 2 @i Tg
(3) #f fgavg @) TR

It

I

i Jrie Ml "ot M I .

rrvdmanis;

TN S P oo ) el

I I WG It Tt T absh TAS M WAr AL ey Truaeael TALU i TR i Tk Winir

D

34,

A.

36.

{| 33. Maich List-I-with List~II and choose the

correct answer from the codes given :

List-I List-I1
General i. Involves specific
-Content issue oriented
Approach organization of
‘services
Specific  i1. Focus on the
Content initiation and
Approach sustenance of a
‘process’ in which
all the people of the
community are
involved.

Process i1i, Focus on the
Approach coordinated and
orderly

development of
services in the
community.

Codes:

A B ¢C

() # i i

(2 1 i il

8y 1 1 i1

4 1 i i

‘Which one of the following option
righily describe about the social case

‘work process ?

(1) Study, treatment, assessment
(2) Study, assessment, treatment
(3) Assessment, study, treatment
(4) Assessment, treatment, study

Which among the following is the
purpose of ‘program media’ in social

group work for its members ?

{I) To achieve personal and social

goals.

{2) To achieve desirable objectives of

the agency.

(3) To achieve goals of the group

worker,
(4) To achieve desirable spiritual
goals.
‘Who wrote the first book on social case
work ?
(1) P.Hollis (2) M.G.Ross
(3) MaryRichmond (4) Trecker G.
12
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39.

40.

41,

42,

What are the types of diagnosis in

Case work given by Perlman ?

(1) Clinical, Etiological, Dynamic

(2) Clinical, Social, Psychological

(3) Emotional, Personal, Problem-
focused

{4) Social, Cultural,
Emotional

Ego is considered to be the chief

executive of the personality and a

balancing force between

(1) Ego and Superego

(2) EgoandId

(3) Id and Superego

(4) None of these

*Active-listening’ is a concept developed

by whom and in which context ?

(1) Rogers, in client-centred therapy

(2) Konopka, in task-centred model

(3) Perlman, in psycho-therapy

{4) Siddiqui, in social encouragement

The central focus of Social Goals model

is on

(1) ‘Social Action’ and ‘Social Activity’

(2) “Social Consciousness’ and ‘Social
Responsibility’

(3) ‘Social Movement and

Awareness’
(4) None of these

Which among the following is not the

disadvantage in Social Group Work ?

(1) Group work is economical and
time saving as a number of clients
is treated at the same time.

{2) Confidentiality is difficult to
achieve as personal knowledge is
shared with the group.

(8) Individual attention is missing
and non-participating members
become lonely.

(4) Group work often degenerates
into games and fun neglecting the
treatment process.

Which among the following is not the

criterion of a group ?

(1) Interdependence

(2) Acceptance of roles and status

(3) Difference of goals, motives

{4) Shared norms and values

Eeonomieal,

‘Social
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43.

- 44,

45.

! 46.

Identify the  correct sequence
regarding stages of social case work :

(1) Study, intake, social diagnosis,
treatment, termination,
evaluation

(2). Intake, study, social diagnosis,
treatment, evaluation,
termination

(3) Intake, study, social diagnosis,
treatment, termination and
evaluation

{4) Study, social diagnosis, intake,

treatment, termination, evaluation

Which is the correct sequence of Case
Work process ?
(1) Intake, study,
formation of goal,
evaluation, termination
Study, treatment, evaluation,
formation of goal, termination
Formation of goal, intervention,
study, diagnosis, treatment,
termination
Intake, diapnosis, study,
treatment, termination, evaluation
Perlman had given the concept of Ps in
Case work. Based on the same which
of the following statement is correct ?
(1) Problematic person, faces problems,
present issues, people help
(2) Place of counselling, problem
faced by people, pay for services,
perceive solution
Person with problem, comes to a
place, professionally trained social
worker help, follow a process
Person having many issues, faces
difficult problem, present issues,
perceive solution

Assertion (A) : The key to effective
group work lies with the worker.

Reason (R) : The worker is not
responsible for the guidance and
help for the group.

Codes :

(1) Both (A) and (R) are individually
true and (R) 1s the correct

diagnosis,
treatment,

@)
3

@

3)

)

explanation of (A).

Both (A) and (R) are individually
true, but (R) is not the correct
explanation of (A).

(A) is true, but R) is false.

(A) is false, but (R) is true.

@)

(3)
@




wefi-1 7 fow 7¢ vl # G-I % @ | 47. Match the items in List-] with Lisi-II
gﬂ‘]%m [ 3 e ke e vt He BT and choose the correct code given below :
L List-1 List-11
-1 gEi-1I A, Oral i.  Trust Vs, Mistrust
A Hifgs i ReEmsm stage -
= Iifavarg % B. Anal ii. Industry Vs.
. stage Inferiority
g' ngrma;ﬂr ];1 %@2& é C. Genital iii. Aufonomy Vs.
—w BﬁIHTQ"&' i stage Shame & Doubt
i D. TLatency iv. Initiative Vs. Guilt
%{ g dv.  3TeREd SM G Codes :
: A B C D
A B C D 5’% O # v i i
W @ v i i e w6 v i
@ 1 1 iv 1 3 1 iv i oo
B 1 v m i ; 4 i m v i
@ i @ W H 48. Assertion (A) : Social Case Work is a

3

i
afmem (A) : TEe SufEs wE | process used by cerfain human
Tl ome S0 HeEl g § welfare  agencies to  help

SifeREl <l gerEd e & g ImEm individuals. o
ﬁ?ﬂﬁﬁmﬁﬁm%] Reason (R) : It helps individual to
& ®) : 5 st = Su st @ cope more effectively with their
aiftes ot 90 @ Froed § weEa Co dﬁ;‘{blems‘
- T | : * (1) Both (A) and (R) are individually
: . true and (®) is the correct
1 W S (R) 31 Safda: T8 8 IR explanation-of-(A).
®, WFEd =Rl - (2) Both {(A) and R) are individually
@) Q) IR ®) A S ?%W ; true but (R) is mot the correct
@), (A) = G&l s TS R 1 i explanation of (A).
@) AT, g @ (3) (A)is true but (R)s false.
(4) (A)is false but (R) is true.

4) (&) 8, Tog (R) T !

¥
JgdE sk fam (2001)125 STER TE ; 49. W13ich are df;ur- importagt processes 11&
ot s G A | e
| (2001) ?

A "R ; A. Group design
B. wE @T{?ﬂ H B. Group stability
C. IR 3R 3Fa:frare ey i C. Communication and interaction
D. g Thdedl i pattern -
E. ogg e i D. Group cohesion
F. g e i E. Bocial control

. : F. Group conflict
G. wEE Ffi g i G. Group culture
H. 3Taies g 2 FEid i P

! ; H. Internal issues and tussle

(1) ABCD (2) EFGH | (1) ABCD (2) EFGH
(3) BDGH (4 CDEG (3) BDGH (49) CDEG

5]
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According to Grace Coyle, the
objectives of Social Group Work are —
(1) To provide opporiunities for
development according to the
needs and capabilities of the

individual.

(2) To help the individual to achieve
adjustment with other
individuals, groups and
community.

(3) Both (1) and (2)

(4) Neither (1) nor (2)

What are the positive effects of

cohesiveness in work groups ?

(1) Worker satisfaction and higher
productivity

(2) Low labour turnover and absenteeism

(3 Both (I) and (2)

(4) Netther (1) nor (2)

Find out incorrect statement :

(1) Cohesion within a group helps
establish an overall group climate.

(2) Group climate vrefers to the
relatively enduring tone and
quality of group interaction.

(3) Cohesion within a group benefits
Eroup in many ways.

(4) Group cohesiveness leads
automatically in “no conflict in
group”.

“S/he should accept the differences in
individual ability and growth; strive to
help individuals understand
themselves and help them modify their
behaviour towards those who have
special needs.”

Above mentioned statement corresponds
to the social group work principle of

(1) continuous individualization

(2) specific group objectives

(3) planned group formation

(4) guided group interaction

Which of the following is not a
measurement of central tendency ?

(1) Mode (2) Mean

{(3) ANOVA {4) Median

The descriptive research method is
appropriate in

(1) Behavioural sciences

(2) Enwvironmental sciences

(8) Earth sciences

{4) Biological sciences

12
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56.

57.

58.

50.

2)

Random sampling is a form of which
kind of sampling ?

(3) Purposive sampling
measure of central tendency ?
methods include social mapping
the physical aspects, as they exist.
Time Related Participatory Rural
(3)
Appraisal (PRA)}
interview is prepared and
avoid bias and distortion.
true and (R) is the correct
true but (B) is mnot the correct
4) (A) is false but (R) is true.
and their pattern of interaction.
(2
each of the variables.
(3)
assumption of causal relationship
Based on the objectives of the

(1) Probability sampling

{2) Non-probability samphng

(4) Stratified random sampling

Which one of the following is not a

(1} Mean (2) Mean deviation

(3) Median (40 Mode

and the focus is on how people perceive

and relate to space rather than just to

(1) Space Related Participatory Rural
Appraisal (PRA)

@

Appraisal (PRA)
Relationship Participatory Rural

(4} None of these

Assertion (A) : In scientific research,
executed in a systematic way.

Reason (R) : The main reason is io

Codes :

(1) Both (A) and (R) are individually
explanation of (A). ]

Both (A) and (R) are individually
explanation of (A)..

(8) (A)is true but (R) is false.

What is Path Analysis ?

(1) Correlation between the variables
Based on central tendency
understanding “the weightage of
A series of multiple- vegression
analyses  with  the added
between independent and
dependent variables.
study, designing the flow diagram.

2|

@
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62.

Following are the steps of data
Processing in social research :

A. Coding B. Checking
C. Computing D. Editing
The right order of steps is —

(1) D,A,BandC (2) B,D, A and C
(3) A B,CandD (4) B,A,DandC

Major phases involved in case study

are as follows :

i.  Recognition and determination of
the status of the phenomenon to
be ivestigated or the unit of
attention.

i1, Collection of data, examination
and history of the given phenomenon.

iii. Diagnosis and identification of
causal factors as a basis for
remedial or developmental
treatment.

iv. Application of remedial measures
ie., treatment and therapy (this
phase is often characterized as
case work).

v. Follow-up programme to
determine effectiveness of the
treatment applied.

Choose the correct answer from the

following :

Codes:

(1) L, 1u,5m,iv,v  (2) 1,i,iv,v, 0l

(3) i, i, i, iv,v  (4) i, i, 1, v, 1v

Find out the incorrect statement about

chi-square test in research :

(1) Researchers can test the goodness
of fit.

(2) Researchers can test the
significance of association
between two attributes.

(3) Researchers use it as aparametric
test.

(4) Researchers can test the
homogeneify or the significance of
population variance.

Which of the following Sustainable

Development Goals (SDGs) talks about

social, economic and political inequality ?

(1) Goal6 (2) Goal 10

(3) Goal2 (4) Goal 13

Who was the founder chairperson of

Central Social Welfare Board of India ?

(1) Aruna Asaf Ali

(2) Bina Das

(3) Durga Bai Deshmukh

(4) Kamla Devi

12
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69.

Panchayati Raj Institutions in India

have brought about one of the following :

(1) Spread of education

(2) A formal representation of weaker
sections in village governance

(3) Eradication of untouchability

(4) Land ownership to depressed classes

What is the basic aim of Social Justice ?
(1) To bring development

(2) To create a just social order

(8) To enhance economic prosperity
{4) To empower women

‘Which among the following is not the
principle of social welfare
administration ? -

(1). The social welfare administrator
must have a proper
understanding of the agency's
aims, goals and objectives. )

(2) The social welfare administrator
must not share the financial
issues with the board member of
agency.

{3) The social welfare administrator
must aim at  delegating
responsibility among various staff,
volunteers and beneficiaries of the
agency.

(4) The social welfare administrator
must be efficient in formulating
proper rules, regulations,
practices and procedures for
conducting work in the agency.

From functional point of view, social

welfare administration includes the

following perspectives of social problems :

{1) Restoration of impaired social
functioning.

(i) Stop the welfare programme run
by the earlier government.

(iii) Provision of resources, social and
individual, for more effective
social functioning.

(iv) Prevention of social dysfunction.

Choose the correct answer from the

following :

Codes:

(1) (@), (i1) and @ii) are correct.

(2) (), (11) and (iv) are correct.

(3) (@), (iid)and (iv) are correct.

@) (), (i) and (@v) are correct.
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What is the full form of NCPCR ?

(1) National Commission for
Protection of Child Rights

(2) National Commission for
Promotion of Child Rights

(3) National Commission for
Prevention of Child Rights

4) National Commission for

Protection of Community Rights

Assertion (A) : There s a gap
between social policy statement
and the development programs.

Reason (R) : The reason is lack of
political will and commitment in
the formulation and
implementation of programs.

Codes:

(1) (A)1is correct but (R) is not correct.

(2) (A)is not correct but (R) is correct.

(8) Both (A) and (R} are correct and

(R) is not the correct explanation

of (A).

Both (A) and (R) are correct and

(R) is the correct explanation of

(A).

Following are the objectives of

(i) Promote the growth of voluntary
social service agencies.

@

(i) To assist voluntary welfare
programmes for the specific
groups of persons who mneed

special help, like women, children
and the handicapped.

(ii1) To coordinate the welfare schemes
of wvarious central and state
government.

(iv) To develop new programmes of
welfare and organize pilot projects
that are 1nnovative and closer to
the common man.

Codes:

(1) State Social Welfare Board

(2) Central Social Welfare Board

(3) Municipal Corporation

(4) Gram Panchayat

12
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Which act deals with for recognizing

the rights of the forest dwelling tribal

communities 7

(1) Forest Rights Protection Act, 1906

(2) Forest Recognition and Rights
Act, 2016

(38) Forest Rights Act, 2006

(4) Demonstration of Forest Rights
Act, 2009

The Indian Succession Act, 1925,

Section 125 of the Criminal Procedure

Code is

(1) For the maintenance of children
avoiding destitution.

(2) Regarding juvenile delinquency

(8) For prevention of -child from
kidnapping, abduction

(4) Regarding institutional

arrangement of the child

_ deficiency, coupled with protein,

energy and malnutrition, is a major

cause of childhood blindness.

(1) Iron (2) Calctum

(3) Vitamin A (4) None of these

Comprehensive Health Care was
introduced at first time by the
recommendation of

(1) Bhore Committee

(2) Lokur Commitiee

(3) Sinha Committee

(4) Renake Committee

1981 was declared as the

(1) International Women Year

(2) International year for the Disabled
Persons

(3) International year of the Older
Person

(4) International year of Elimination

of Child Labour

The system under which a woman can
marry more than one man and keep all
of them with herself is known as

(1) Polygamy {2) Procreation

(3) Polyandry (4) Patronymic

The Chairperson of Child Welfare
Commitiee under JJ Act must have
the following educational qualification :
{1) Degree in any WManagement
discipline

(2) Degree in Engineering

(3) Degree in Social work

(4) Degree in Environment sciences
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Mission Indradhanush Scheme

launched in 2014 is concerned with —

(1) Full Immunization

(2) Women Health Screening

(3) Safe Motherhood

(4 Family Planning

Family welfare agencies do not help

the families in —

(1) Insurance facility

(2) Economic difficulties

(3) Unemployment

(4) Poor living conditions, ili-health,
marital & family conflicts &
several such problems

The objectives of the policy are

to meet the reproductive and child

health needs, to bring the Total

Fertility Rate (TFR) to replacement

levels by 2010.

{1) National Health Policy, 2002

(2) National Population Policy, 2000

(8) National Charter for Children,
2003

(4) None of these

According to the provision of “National
Commission for Allied and Health
Care Profession Act, 2021” which of
the following category 1is not
recognized as a health professional ?

(1) Nutrition Science Professional

{2) Traditional Qiiacks Professionals
(8) Occupational Therapy Professional
{(4) Medical Technologists

Which of the following provision can be
considered as a social security
measure ?

Pension for the Widows
0ld Age Pension
Housing Loan from Bank

Student Loan from Commercial
Bank

Maternity Benefit
(1) ABE 2) A,B,C
@& B, (D @ C,D,E
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Match last-I with List-II and choose
the correct answer from the codes given :

List-1 List-11
Right to i. Empowers children fo
Survival take an active role in
their communities and
nation.
Right to ii. Requires that children
Development be safeguarded against
all forms of abuse,
neglect and exploitation.
Right to ii. Covers a child’s right
Protection to Life and the needs
that are most basic to
existence,
. Right to iv. The rights to
Participation education, play and
leisure, cultural
activities, access to
information and
freedom of thought,
conscience and religion
Codes:
A B C D
1) i i i iv
@ m iv it i
@ v i1 i i
4 1 H v 1
The program of Beti Bachao Beti

Padhao (BBBP) was launched by
Prime Minister on 22 January, 2015.
It is a tri-ministerial efforts.
A. Ministry of Women and Child
Development
B. Ministry of Social Justice and
Empowerment
C. Ministry of Health & Family
D.
Development
E. Ministry of Home Affairs

Welfare

Ministry of Tuman Resource
Mention three ministries involved in
BBBP as correct answer :

(1) A, BandC (2) A, CandD
@) B,Cand E 4) AL Dand E
HDI stands for and combination of

three major components, .

(1) Human Deterrent Index / hfe
disease, health

(2 Human Development Index /
longevity, knowledge and income

(3) Hunger Determinant Tndex / food

scarcity, water availability,

nutritional standards .

Health Diet Index / Nuirition,

Hygiene, health

@
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Sugamya Bharat Abhiyan - a
nationwide campaign is related with
which field of development ?

(1) Development of PWDs

(2) Women Development

(8) Child Welfare

(4) Apged Welfare

What is cultural lag ?

(1) Existence of various culture and
subculture with their own unique
characteristics.

(2) Is a situation in which some part

of the culture change and some

parts disappéar.

Mix of various culture causing a

disruption and disequilibrium.

(4) A situation in which some part of
the culture change at a faster rate
than other related parts, resulting
disruption.

Which of the following statement is

wrong about social problem ?

(1) Social problem changes with the
passages of time.

(2) A problem is always considered as
a social problem.

(3) A condition considered as a
deviation from social norms.

(4) Social problems are remediable by
group efforts.

3

In India, the age of the juvenile

delinquent is set at

(1) 18 years for boys and 21 years for
girls

(2) 16 years for boys and 18 years for
girls

(3) 20 years for boys and 17 years for

girls

(4) 15 years for boys and 19 years for

girls

Which among the following legislation

is related to drug abuse in India ?

(1) The Pharmacy Act, 1948

(2) Narcotic Drugs and Psychotropic
Substance Act, 1985

(3) Mental Health Act, 1987
(4) The Prevention of Food
Adulteration Aet, 1954
12
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Which among the following is not the
dimension of poverty ?

(1) Lack of livelihood strategies

(2) Accessibility to resources

(8) Feeling of insecurity and
frustrations

{4) Inability to develop and maintain
social relations

What among the following is not a

characteristic of social problems ?

(1) Social problems are caused by
many factors.

{2) Social problems are
interrelated.

(3) Social problems affect
individual of the society.

(4) Social problems affect different
individuals differently.

Which one of the following rightly

describe the underlying philosophy of

Juvenile Court ?

{1} Protective rather than punitive

{2) Punitive rather than protective

(8) Correctional rather than proteciive

{4} Developmental rather  than
correctional

Social disorganization is characterized by

{a) Lack of co-operation

(b) Diminish faith in common values

{¢) Disturbance in unity

(d) Lack of discipline

Codes:

(1) All are correct.

(2) Only (a) and (d) are correct.

(3) (b) and (c) are correct.

{4) (a)and (c) are correct.

Goals of rehabilitation

addicted person are as

(i) Total abstinence

(i) Improving one’s physical condition

(1ii) Resuming one’s education, job and
social roles

(iv) Re-entering the family

Codes:

(1) (@), (i) and (iii) are correct.

(2) (ii) and (iii) are correct.

(3) (i), (ii), (iil) and (iv) are correct.

(4) Only (iii) is correct.

not

every

of drug
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The Central government has set up
the following department as anti-
corruption measures :

(a) Administrative Vigilance Division
(b) Central Bureau of Investigation
(c) Central Vigilance Commission

(d) Domestic Vigilance Units

Codes :

(1) All are correct.

(2) Only (a) and (b) are correct.

(3) (b) and (c) are correct.

(4) (a)and (d) are correct.

Whiach among the following sentence is

not a hurdle to go the counsellor ?

(1) What would they think of me ?

(2) I need professional help to come
out from stress.

{3) Counselling is a waste of time and
money.

(4) I should be able to sort this out
myself.

Who among the following propounded
the theory of transactional analysis ?
(1) Eric Barne (2) Albert Bandura
(8) B.F. Skinner (4) Carl Rogers

Who developed the practice of ‘Free
Assoeiation’ in Psychology ?

(1) Anna Freud (2) Sigmund Freud
(3) William James(4) John Dewey

Dream analysis as a tool fto
understand thoughts belongs to which
one of the following school of thought ?
{1) The Behaviorist school of thought
(2) The Functionalist school of thought
(8) The Psychodynamic school of thought
(4) The Structuralist school of thought
Which one of the following theories

emphasized on understanding human
behaviour ?

(1) Ecological theory

(2) Psychodynamic theory

(8) Sccial learning theory

(4} Gandhian theory

Checking to see how helpee is doing
after counselling relationship
terminated is known as

(1) Meeting 2 Gathelmg

(3) Follow-up {4) Evaluation

12
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. Counselling

Who developed problem solving model
in the area of counselling and social work ?
(1) Sigmund Freud (2) Jessie Taft

(3) H.H.Perlman (4) Gordon Hamilion
Who among the following developed
functional school in the field of social
work ?

(1) Mary Richmond (2} Jessie Taft

(3) Swift (4) Charles Cooley
‘Who started counselling in social case
work ?

(1) Bertha Reynolds (2) Mary Richmond
(3 H.H.Perlman (4) Jessie Taft
Who among the following propounded
client centered therapy ?

(1) B.F. Skinner (2) Carl Rogers

(3) Carl Jung (4) Alfred Adler

In Johari window ‘blind region’ is

(1) Can be viewed as fully open
window.

QOthers can see but that we are
obliviois to.

We know about but choose not to
be disclose.

Not; yet discovered by .ourselves or
known to others.

Which senfence is mot true regarding
an effective therapist ?

(1). An effective therapist has a sense
of humour.

An effective therapist does not
make mistakes and is not willing
to admit them.

An effectiver therapist generally
lives in the present.

An effective therapist has a
sincere interest in the welfare of
others.

“Receipt of specific permission to do
something following 2 complefe
explanation of the nature, purpose and
potential risks involved” is called

(1) Consent (2) Informed Consent
{3) Information (4) Guidance
related to personal
problem lay stress on aspect.

(1) Affective (2) Cognitive

(3) Behavioural (4) Psychological

@
3
4

@

3)
@




113.

114.

115.

116.

117.

118.

119.

= § Tafres T

TGP B “difgh” iamfe I I Wy
EgR 3R HEgR & SlEs Aem 3k
AfireafE ) SRS # Aeg HaT & |
(1) =i @) gl
(3) T (4) Iigeet
Prefafias § ¥ w9 o1 9ewE dEg $i
P a1 g 2
(1) @) HE’
3) ripla (4) wEp
IS - T, mwEe ...,
g 98 & S ISl HET =T,
THSIETT i TR |
(1) FDIUAGHR  (2) RIS
(3) SeraE famms (4) W fim
TR <! T gEn e % 9§ aftia e
S gHdaI & -
(1) TIEafFar S EiwR T8 S
(2) HEIEIT WA B G L
(3) T WiaTcAS Shafsran w1 fFmi
(4) T: 9 I TE LGRS
ffafeq 3§ & free qoumd WA
=agr Rifeerdig 7
() IR () THEA I
(3) <= s (4) Uit THAT
ﬁﬁﬁmmmu@aﬁﬁ%ﬂ
(1) VTS SIS i < HaRmeH
o FRETERIE |
SRS WETes Gt qaff 5
STeIhIel H SCTT BE Bl & |
Ve I 9fER & 9890
FROTEETE |
(4) WERAS TR EN § EUet

(STIRFIT) FHRU IS |
TS 3TThd O e il ¥ e
215 waed d off waa few @ ? 1
TfEeaEy, 400 ¥ s Iaredl
Wl &7 3 ygaE 6w R s 5 il

@

3

Ygir TR AINE | R AGRFITHE—
A, wEHEIHE B. wa@ites

C. s=fsiga D. Uw e SEeid
TE AR -

(1) SaeTA, B3RC (2) SawB, C3RD
(8) FAA, C3D (4) F=w@ A, BIwD

T an g ¢ et Wbt Wi Shivi s s B sk T b T Tl W ke Frtuiinteri ) T N LA Tre A e Y WM e

[x )
wn

7

{ 113.

114.

115.

116.

117.

118.

119.

In stage the therapist helps
counselee to move from “intellectual”
insight to the actual development and
expression of their healthier attitudes
and behaviours.

(1) Diagnostic (2) Re-orientation
(3) Interpretation (4) Follow-up

Which among the following is not an
essential characteristic of helping
relationship ?

(1} Trustworthy (2) Warmth

(3) Rejection (4) Empathic

Phrases like — ‘in my opinion, T think
..., ‘this is what you should do’, makes
the counsellor

(1) Good Advisor (2) Judgmental
(3) Liberal thinker (4) Best Friend
Repression as a defence mechanism
can be described as

(1) Not accepting reality

(2) Buryving a painful feeling

(8) Forming an emotional reaction

@) TFalling back to childlike patterns

Which one of the following has given
Rational Emotive Behaviour Therapy ?
(1) Albert Ellis (2) Abraham Maslow
(8) dJean Piaget {(4) Paul Ekman

The basic underlying philosophy of

psychodynamic approach in

counselling is —

{1) Emotional problems are due to
maladjustment of individual.

(2) Most emotional problems
originated in client’s childhood.

(3) Bmotional problems are due to
family support.

(4) Emotional problems are due fo
malfunctioning in society.

Counselling is relatively new activity

which continues to grow in 21st

century. Resultantly, more than 400

different approaches fo counselling

have been identified which can bhe

traced back to three theoretical

approaches. These are

A. Psychodynamic

B. Psychosexual

C. Personcentered

D. Cognitive behavioural

The correct answer 18 :

(1) A BandConly(2) B,CandDonly

(8) A, CandDonly(4d) A BandDonly
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{ 120. Maich the given terms (List-I) with their

meaning (List-IT) used. in school setting :
List-1 List-I1
Curriculum i. Reward
Reinforcement ii. Evaluation
Special needs  1ii. Planned learning

experiences
Appraisal iv. Particular
requirements
Codes:
A B C D
(1 i i iv il
2 1 @ v i

3) i i iv i

4) w 1w n 1

121. Stumbling blocks to acceptance are

(@) Attributing one’s feelings to the client

(b) Unfounded reassurances,
unwillingness to explore

{c) Believe in democratic principles

(d) Developed non-judgmental attitide

Choose the correct answer from the

following :

Codes :

(1) (a)and (b) (2) ()and(d)

(3) (a)and @) @ ©and @

122, Time-out’ as one of the frequently used

techniques for dealing with disturbing

behaviour of the children. What is

“Time-out” ?

(I) Hitting the child to stop the
undesirable behaviour.

(2) Encouraging the child to spend
time with friends and peer groups.

(3) Giving eatables or mobile phones
that the child likes, to stop the
undesirable behaviour.

4) For elimination of an undesirable
behaviour, the child is placed in a
new environment where there is
hitle stimulation.

123. The Cognitive Behavioural Approaches

(a) Seek to assess and treat identified
sympioms and concerns in an
efficient, largely here and now

" () Dealing with clienit’s feeling in depth
.{c) Interaction with client’s family

(d) Use precise assessment techniques
and home work-based tasks

Choose the correct answer from the

following :

Codes :

(1) (a) and (d) are correct.

(2) (b) and (c) are correct.

(3) a) and (c)are correct.

{4) (c)and (d)are correct.
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128.

Insight in the Psychodynamic model is

(a) Making thoughts rational

(b) Getting in touch with
unconscious

(c) Bringing what is unconscious into
the conscious

(d) Making change in environment

Choose the correct answer from the

following :

Codes:

(1) Only (d) (2) Only (b)and (¢

(3) Only(@and(d) (4 Only (c)and (d)

Premorbid personality is

(1) Personality disorder characterized
by inability to think rationally.

(2) Personality disorder developed
due to severe head injury.

(3) Personality disorder before onset
of the illness.

(4) Personality traits before onset of
disorder.

the

According to ICD 10, ATPD stands for

(1) Acute and Transient Psychotic
Disorder

(2) Affective Temporary Personality
Disorder

(3) Actual Temporal Psychosomatic
Distortion

(4) Adaptive Transient Pain Disorder

‘The digital/internet addiction is added

in the following :

(1) In DSM-5 as internet gaming
disorder,

(2) In ICD-10 as internet compulsion
disorder.

(3) In DSM-5 as internet compulsion
disorder.

(4) Not included for diagnosis in DSM
and ICD.

What is the right sequence of techniques

used in person centered therapy ?

(1) Accepting, listening, respecting,
understanding, responding.

(2) Respecting, accepiing,
understanding, listening,
responding.

(3) Responding, accepting,
understanding, listening,
respeciing.

(4) Listening, accepting, respecting,
understanding, responding.
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| 133.
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was established to fight against
idolatry, caste, child marriage, favour
of widow remarriage and abolition of
untouchability.
(1) Brahma Samaj
(2) Arya-Samaj
(3) Satyashodhak Samaj
(4) None of these
The social worker to be incompetent to
render effective intervention, if he/she
has not the basic quality.
(1) Knowledge  (2) Value
(3) Skill {4) Aggressiveness

. Which of the following is not a primary

agency of socialization ?
(1) Political party (2) Family
(3) Peer group (4) Church

. The term sociology was coined by ,

a philosopher, in the year
(1) Socrates/Greek/1139

(2) Karl Marx/German/1849
(3) Adam Ferguson /Scottish/1839
{4) Auguste Comte/French/1839

Who among the following said that
society is “A web of social relationships” ?
(1) F.H. Giddings (2) C.H. Cooley
(3) Emile Durkheim (4) Maclver
Which one among these is not the aim
of social work ?

(1) Remove social injustice

(2) Control social change

{8) Relieve distress

{4) Prevent suffering’.

Affection, Recreational, Religious,
HEduncational and  Economic  are
important functions of institution.
{1) Marriage (2) PFamily

{3) Economic (4) Political

We carry around with us ideas and
expectations, reinforced through our
socialisation and the mass media,
about ‘appropriate’ ways to behave.

(1) Interpretivist theory

(2) Conflict theory

(3) Consensus theory

{4) Structural theory

Which one of the following factor is
mainly responsible for malfunctioning
in the area of interaction between
individuals in society 2

(1) Religious institutions

(2) Legal awareness

(3) Industrial revolution

{4} Education




138. Taiiitaa i U SF 9199 </ =6 0F SR T8l § 138. Which one among the following, is not

27 a function of social work ?
SRS (1) Correctional (2) Curative
A (1) GaIreH 2) © (3) Redistributive {(4) Preventive

(3) AT (4) UHA™

139. TR UiEdT & e 4 Fefga 5 9
B AT BT IIIF R 7
(1) Hr YiEa O S T R |
(2) =i ity g aiad § |

139. Which one of the following statement
is correct about social change ?
(1) Social change is universal
phenomenon.
(2) Social change is change in individual
ﬁgm (3) Speed of social change is equal in

xm\nwﬂmwm VRIS A WAL TR W

(3) wiHis uiedq i iy wff g o (B all societies.
TR L (4) Social f;l';ange is not affected by
TR T = e @ v many factors.
) i # t 140, Who among the following gave the
T BT | . | concept of ‘Cultural lag’?
140. Ffeifeg 7 4 e wphos o= (1) Maclver (2) Ogburn
Fl IR ] 7 (3 Kingsley Davis §4) mI;II.TMZ:zEumdar
HehEST 9} 37T 141. _ are major type of social stratification.
g e el §4§ .3, TeHER | Ea)) Class g Laste
. c) Estate igration
141. mmwﬂw%ug@mﬁl Choose the correct answer from the
@ = @[ @FWN WEE | following :
fFrefefgad A s s I Codes :

1) (b), () and (@) (2) (a), (b) and (¢

8) (@), () and (d) 4) (a), (b)and(d)
142, Match List-I with List-II and choose

the correct answer from the codes given :

%‘3:
1 0),QIRGD @ (@, IRE
(3) @), @ING @ (@), )R @)

-+ 142, Pl gi-1 S G-0 /@ gif List-T List-II
aﬁ%%ﬁtﬁqmﬁﬁ@%wgﬁq A. Association i. A gx.'oug off people
1 i organize or a
e i RRw e R particular purpose.

A, L = T . Community ii. A group of people living
1 S AT TH g | within a  limited
B. cE@ i difti Wimitess &3 ° Téﬁ geographical area

TR A T O 9 having common interest.
T 1 C. Institution iii.An organized system

- . with collective
G. 991 i quaﬁ INTTRAT behaviour having
‘1{[3‘7{3{ %ﬁqw TeE 3?1( common rules and
m%@mww procedures to meet

e ek e g STt | certain needs of the

. R society

D. s iv. ©B &9 D. Society iv. A group of people who

TE 9 A W TH YR live in a defined

S w-ggt T W
@ § I A T e

geographical area who
interact with one
another and who share
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e for et S e | a common culture.
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A B C D A B ¢ D
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Fill in the blanks from the given options :

The functional theory of stratification

provided by suggests that social

inegualities are for society

because they provide an incentive for

the most to occupy jobs that are

essential to the of a society.

(1) Ogburn and Nimkoff / Habitual /
People / function

(2) Kingsley Davis and Wilbert Moore
/ functional / talented mdividuals /

. orderly maimtenance

B Karl Marx / intentional / rich
people / perfect functioning

{(4) M.N. Srinivas / within caste
system / high caste people /
structural division

Consider the following statements and
select your answer according to the
codes given below :
Assertion (A) : Culture shapes
individual and group personality.
Reason (R) : It provides scope for
individual variations and
creativity.

Codes :

{1) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is
the correct explanation of (A).

B) (A)is true, but (R) is false.

{4) (A)is false, but (R) is true.

A Social Worker need to understand that

A. Society s a web of social
relationship, that can be based on
gender, occupation, age,
community living etc.

B. Society in essence means a state
or condition, a relationship, and
is, therefore, a conflicting,
imbalanced combination.

C. Society is not a thing but a
process of associating with each
other,

D. Society cannot be interdependent
to maintain its social identity.

‘Which of the statements is/are correct ?

(1) All correct

(2) Aincorrect & B correct

(3) B incorrect & C-correct

(4) B correct & D incorrect
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Which one of the following statement
is not correct regarding social problem
on the basis of their origin ?

Saocial Problems are those —

(1) Which are rooted in some aspects
of the physical environment.

(2) Which are inherent in the nature
or distribution of the population
involved.

(8) Which result from poor financial
management.

(4) Which evolve from a conflict of
cultural values within the society.

Match List-1 with lList-II and choose
the correct answer from the codes given :

List-1 List-1I

A. Social work as i.  Elizabethan
charity poor law

B. Welfare social ii. Social
work approach Security Act

C. Clinical social iii. Religious
work approach view

3. Ecological iv. Deficits 1in
social work the
approach environment

Codes:
A B C D

() iv 1 @ i

@2 i v i il

@3 1 i i v

) i i i iv

The first ‘Overseers of the Poor were
appointed in which one city of the
America ?

(1) Washington (2) New York

(8) Philadelphia (4) Boston

Which of the following is not a stage of
psychosocial development as per
theory of Erickson ?

(1) Industriousness Vs. Inferiority

(i) Initiation Vs. Intimation

(iii) Initiative Vs. Guilt

(iv) Despair Vs. Appear

1) (i) & @ @2 O&®w

3 @) & @) 4) (i) & (iv)
Which one of the following is the first stage
of Freud personality development model ?
(1) Anal stage (2) Oral stage

(38) Phallic stage (4) Genital stage
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